QRFINFR FE

OHMBMARRIREI ST




[AHHEERICRE T HERE])

D BRI

B E
X5 NA

FRTEHE BEERET S 369

BtETE 14,206 m

XigX 5 AL (EHETENESE 34 & 12 SXIEBEEEXSE)

FA&ithis —

X EtHE —

R BEER 60,200

ZOfth —
BEYHE

BB & - FEE EERFER MERETR

OENEES HBEZTOME- 2 B BBAI53%F 2 A 738 m

Of5hll - ZBIERR HEZOME -3 BB 548 A 1,428 m

€ N={IN= HEZOME 1 R BBMe6l1E3 A 52m

GER -5l - TERER HBEZOME -3 BB 63FE3 A 1490 m

OHBE=E HEZOME 1 R BB 63F3 A (114 m)

OEE cUEEY BBV —NET SMW3FE2A (5 m)

@& BREEDOME-T RS ¥k 6 F12 B 19m

@I ERMEE BBV —NE-2 B FHOFE6 A 130 m
BN FRECER

§§%§m’fbfr.(
\
- = %‘ég%—mem
D el 2
e B J i
"4 6.428m &
/ ==

\\?A |
‘\T,/@)/r\y"//’:

|
EES A
&4 6,022m

R %




@ AR

SR
X5 RE
£ BERBEHRNE 1890-1
SRR 13,655 m
XX 5y MHMERAR X (BRMETENESE 34 5% 12 SKEBIFEEXE)
P His —
H X EHE —
R BEX 607200
DAt —
EYHE
FE2YEZT 15 - FEEX HEEH FEPRTEITR
OT-IERANEE SRETDME 1 I BM44F7R 58 m
QEE- 5 - EBHER IRETDME 4 4 F1H 2,738 m
CHR=E IRETDME 4 4 F1H (175 m)
OHIR= BHEIVIU)—NE- T Y4 F18 26 m
CME RETDME 1 T4 F11TH 21m
CENEENS #HEIVI)—NE-2 B TR19F 3R 925 m
O - FROEE R (R HEIVI)—NE-2 B TH19F3 A 199 m

ININFRBCER]

(I EHEHT]

- BEREA

@ RteE
1 )

ETNE A
&H 71,2360




Q ARF/NFR

Az
X5 &
FRrTEHD IBERBEREH AR 923-1
SRR 27,507 m
XX T CEREX IS (ERTEHEASE 34 5% 12 SKIEFEREXE)
P&t —
X EHE —
EileR AEE 60,200
a2l —
EYIE
BB 1BiE - Rk BEREFR SEPREIR
OER -5l - EBEHER BV — -4 B BR¥1 56 £ 3 B 2,964 ni
QFFRIBER BV — -4 B BR¥156 £ 3 B 2,406 ni
QEMNEENS XBTOME -2 FE A0 56 F 3 A 1,125 m
@T-IERAEE SXRETOMS 1 I BAAD 56 F 7 H 123 m
OH= SRBIV0)— -1 B BR¥156 £ 3 B 55 i
©E/T BBV — -2 B BR¥156 £ 3 B 50 i
DHBE HBTDOMIE- 1 R R 26 & 3 B (207)ni
RENFRECER
- HRER BH - 3
o) Raadl 1

(RIzEMERT)

EEG R
47 16, 872nd

@, T ] _J

B




@ BERNFR

RS
X5 RE
£ BERBEMER 4515-1
BRI EAR 17,485 m
XX D M AR XIS (BRI EHERASE 34 5% 11 SXi)
P tthie —
H X EHE —
BikR BRER 60,200
DAt —
RYHE
BT 18 - %K BRFH HEPRTENTR
OEREENS KRBT OME- 1 R BB 52% 3 A 486 m
QOEE -5l - TEHER H®EIVD)—NE-3 & BB 56 £3 A 2,426 m
OMiE KRBT OME- 1 R BEfM 56 F£6 A 10T m
@& KRBT OME- 1 R BEM60F3 A 50 m
OT-IERANEE H®EIVIU—NE- 1R 4 F3 A 113 m
Qe KRBT OME- 1 R Y 25 F 3 B (191)m
@70INVE BRETOMIE 1 R TRk 25 F3 A 4 m
e
| o=

ET A

/ 24 8 174m

),




G HHNFR

SR
X5 RE
£ BERBEMHFHF 194-2
SRR 10,675 m
XX 5y LR (ERHETEASE 34 5% 11 SXiE)
P His —
H X EHE —
R BEX 607200
DAt —
EYHE
FESYIEZUN) 185 - FEEX BEREA FEPRTEIRS
OEREENS ERETOME 1 B BB 52% 3 A 484 m
QEE- 5 - EBEHER $HEIVIU—NE-3 B BBM59F2 A 2,405 m
& ERETOME 1 [ BBM59F 14 81m
@T-IERANEE BHEIVI)—NE-1 TR 3FE3A 113 m
CHRE=E ERETOME 1 B TR 25F 3 B (163 m)
©@70/\ ERETOME 1 [ TR 25F 3 B 2m

HAVNFRECER

(HIzEEEHT)

EENE Ath
®# 5.571Im




© LHENFR

B
X5 A
ATt B EEIREMIAR 3156-5
BRHhETR 13,397 m
XX 5> A CRAEE X (BMETENESE 34 & 12 SKIEBIFEEX)
FAx&ithis; —
X EHE —
eI BN B 60,7200
FOM —
EYIE
be27/E 2PN 1BE - FEEL HEFR EPRER
OEREENS HETOMIE 1 R BBM51F2A 488 m
QB -5l - ZEH=ER #BEIVI—NE-3 BiII57%#3 A 2,444 m
& BT DME- 1 FE BRiII57H#6 A 81m
@T—IERMEE HBEIVD—NE-1 [ T 2% 3R 113 m
OHaBE= BT DME- 1 [ TRk 25 F 3 A (202 m)
OF RN B EERFEIGEY HETOMIE 1 R TRk 25 F 3 A 5m
LHENFRECEMN
=
/ 711
/ L \
=k

Fi

(HIZERERHT]

C)Eﬂgﬁm-ﬁﬂﬁgm

BEORE
%% 5, 440mi




@ BERBERRIEEIST

B E
X5 RE
FRrfEsth BERIBEMER 4526-2
B 1,278.51 m
XX 5 ALK (FEMHETEESE 34 & 11 SKiE)
P& —
X EtiE —
EiE SRR 60,7200
ZAth —
BYE
BEYain 1BE - FEE EERFR IEPRETE
ERMERREEIST rEE- 1 B BB 53 &F 558.73 m
ERBEGRRIEEI S TR EN
ORI R e S R
4 m;l;-!l_ dre o R o - - AE 4: + = MR
4 - 4
27=9 I WAL . | .
:’ 1] I cﬁ: J ::I.EE;I {H.wml - -l:!;ﬂ?
— [—j ) L b1y
O 1354 12 68af
§ S E 1
= e o




HHMBERRIRES ST

=
X5 RE
ALEH, R RBRMAIAE 220-1
SRt 2167.62m
XX MEHMEREX R (EMEHEAS 34 5% 11 SXi5)
P His —
W5 -~
R BEX 60,7200
Zofts —
EYE
EELY/E2n] 185 - FEEX BEREA FEPRTEIRS
i:g?ff;i;;j S 10 H54% | 503.06
HIMERRIREY S TREN
AR AT EERTTOE BT AT IR R _‘ :
. T CEDaEm  bomm o-coummgcosikes
R | e suns
T




O LHEBERRIEEIST

SR
X5 RE
£ BERIBEHILE 3163-5
SRR 2,722.44 m
XX 5y MHEMEREX S (B MEHEES 34 5% 12 SREBRIFEEXE)
P His —
H X EHE —
R BEX 60,7200
DAt —
EYHE
FESYIEZUN) 185 - FEEX BEREA FEPRTEIRS
LHEBERRREI ST SREE - 1hE BEF] 52 &F 558.73 m

A, -'1 S g
A 4 -
Ap=0 SR o L
1
1
aT
ENEd EXED BEED « W om D
2R (mmEa) CRESEALE) {meosan CEREM)
) o
1] E = E M
BAE
i 1




